SH2E8H22H (L) EHKIE]

MEHE BT HEEERRO 4R EOES R (ATELL)
\‘\ = N
"\ AEBEEN
ST

B =#HE£K

£EH

By B

84 %

F2  BHEEDNIAU T BRI BIERENEN O R EHDH A

Jeos o
=)1) : — ~\‘
N " \ )
- \ - - —
S~
| K
j % “ -/ —_—r— ——— - T
. . F R fk B :
T s, FBEKLL %0 :
Lo 2K oF 525 7T 3H e
S (RER #ER i ! -
% P2 S B 8 -~ P
) > S - p R = = B K s
3 e - ol
5RO BELE||F1F o A == YNEY el
- — ~ - .
(DINEXCOZ - 1 | QI g# == 7 AR
28 83 % 48 85% | | A HE
ANIES 83 % | X
KB 85 % KRR L —
1 R RATHEI L BT BB DRI (55 FICLBEA) 7 REEFE = emsownies
[WrEH - RAAEE20 PEASE HEEE22] o L i YD LR
o = REELYHEDSLEEE (10%L)
/ﬁ ExdhnIC - JCTEIFRFR — :ﬁﬁﬁfib\??ﬂtd)&ulﬂéﬁﬁ




EHHEOSM2E8A22BORERMA R EE

KRBEF, RME(MTHVFIZLDEHED,

SH2EQD THTEQ SH2EQD THTFEQ SH2ED THTEQ
(&/H) (&/8) xf (&/H) (&/80) xf (&/H) (&/80) it
X ) 8H22H (L 8H24A(+ Al 8H22H (L 8H24A(+ Al 8H22H (L 8H24A (L Al
I\ HEA IR A AR A EZES BB El=h:e FHL
7 @/ @ @/ @ @/ @
($E#) (25) (23] (NFE) (NFE) (B (KHH) (KAE) [KRE]
1 BN E1E 4 £t~ A E 89,400 121,000 74% 67.300 95,500 70% 22,100 25,500 87Y%
2 #E)NE/LRE | EoorhshiE B ~ B 58,900 77,400 76% 52,100 69,300 75% 6.800 8,100 849%
3 I=F S EIIE E1E4 HERTA~ B2 & JCT 111,300 144,400 77% 79.900 102,800 78% 31,400 41,600 75%
4 R E20ch i Eufh~/\TF 68,600 80,700 85% 63,300 73,500 86% 5.300 7,200 74%
5 rEINE CAElHE B R B A ~ AR E ] 71900 78,100 92% 50,700 53,500 95% 21,200 24,600 86Y%
REAXN £t 80,000 100,300 80% 62,700 78,900 79% 17.400 21,400 81%
BER E17ES85E iR ~ =¥PAXT—KC 88.800 100,100 89% 73.400 82,200 89% 15,400 17,900 86Y%
BER E17ESiE BN ~ LI 79.900 103,700 77% 68.200 89,700 76Y% 11,700 14,000 849%
BER E4sdbsE SR ~ =48 87.300 107,400 81% 70.000 87,400 80% 17.300 20,000 87Y%
BER EasdLsE A ~ F& 69.800 93,400 75% 56,500 78,000 72% 13,300 15,400 86Y%
IR E634EE BEE ~ OKIEICT 54,700 68,100 80% 42,000 52,900 79% 12,700 15,200 849%
FIHIR o AEE EE/NEERT—FGC ~ 205 53,600 69,400 77% 39,400 51,400 77% 14,200 18,000 79%
FER E14EEEE BEA ~ s 111,200 112,100 99% 100,900 102,200 99% 10,300 9,900 104%
FER E51SRRS s BERE ~ EEEEE 86.200 111,400 77% 70,200 91,600 77% 16,000 19,800 81%
FER E51ZRRAmE S =B ~ REJCT 38.900 58,500 66% 32,300 48,800 66% 6.600 9,700 68%
. FER E51 SRS K ~ (EEER 16,800 21,400 79% 14,600 18,500 79% 2200 2,900 76%
FER E148E L BB HE ~ Whishs s 39,500 40,000 99% 34600 34,600 100% 4.900 5,400 91%
FRR CARFET V754> BZEICT ~ #HIF1-BPA 57,500 60,200 96% 50.600 51,800 98% 6.900 8,400 82%
BN E83% = EUREH B ~ AL 88,300 98,200 90% 83,600 92,800 90% 4700 5,400 87%
BER CIHEMNBETEE FHE ~ SEHH 16.200 83,700 91% 66.300 73,100 91% 9.900 10,600 93%
BER CIEEAMBEEEE IO ~ B 89,100 98,400 91% 74,400 82,800 90% 14,700 15,600 94%
BER CIOEENMEBEFEE =@Hdht ~ =85 63,000 72,000 88% 48,700 56,700 86% 14,300 15,300 93%
HRE CABRiE AW ~ Ei 55,700 68,000 82% 38,600 50,400 77% 17,100 17,600 97%
BEER CAEl R )0k ~ BE S 45,300 58,100 78% 32,100 42,900 75% 13,200 15,200 87Y%
IR CAEl R B ~ S¢Fhh 14,100 18,900 75% 11,000 15,100 73% 3.100 3,800 82Y%
B 310 CABhE fEE ~ FEgk 13,500 20,900 65% 11,200 17,900 63% 2.300 3,000 77%
EEHA i 61.500 73,200 84% 50,900 61,000 83% 10,500 12,200 86%
NEXCO ££&+ 65.200 78,600 83% 53,300 64,600 83% 11,900 14,000 85%
AR 12T @ A~ H 80.300 89,800 89%
AR 32 A L= E~EE 71.800 85,500 84%
R ED 1EHER hRE~EHF 15.900 85200 89%
BER 55 R £HZARICT~FHAE 21.000 56,700 90%
BER 65 = 42 =4JICT~/\i#] 15.900 84,800 90%
SRR T2 MRN8 REE~—2iT 52.400 50,900 103%
FER g 2] EAJCT~F EHT 69.500 96,900 72%
SRR R I BJCT~BEE/ 93.700 111,100 84%
BER M=t~ JIIOJCT~ 53475 26.500 71,300 /9%
AR h L BBk 48 X #JCT~HEKRHE 49.600 61,200 81%
s [T th R BIR 4R Era~9LaE 88.200 99,100 89% b5 o = BRI 7 L
AR th R IBIRIR th¥5 R & 15~ 7ty 85.600 93700 91%
AR h R Bk S TFE~FFi 64.500 76,000 85%
SRR th R IBARAR BAE~ FEHIE 18.700 92,500 85%
AR th R IBR S P9y K ~ T 3 KA 69.300 76,000 91%
HRED 5 4 25 AIE ~ EEJCT 133,300 167,300 80%
D B K ~EE BB 113.200 142,300 80%
RS 1S PR % HJCT ~ EIBEJCT 108.200 137,500 79%
R IS EBE BT ~ ABTJCT 68.700 79,100 87%
R AR 1B HTELR 535~ = EIRICT 65,500 76,600 86%
SRR 55 s P4 B ~ T A8JCT 72.900 85,700 85%
R 65 B R FEIEJCT ~ ST FH8JCT 135.900 143,200 95%
EENSEE 5 80,000 93,700 85%
BEE 24%K5t 72,100 85,700 84%




